PROFESSIONAL EXAMINATION BOARD

Training Officer’s Selection Test : 2016
6th November 2016, 12:00 PM

Topic:- General Knowledge
1)

Question Stimulus :-

Who laid the foundations of Space Technology in India? / HIRd H 3afver Menfie &1 Hia v@q a
fdd &1 A2

® Dr. M.G.K.Menon / a@ﬁﬁ%ﬁq—'{

e Vikram Sarabhai/ fasp# HTQT“-IT'&F

* Dr. Raja Ramanna/ ST. XTSI ITHAT

e Homi J.Bhabha/ GTHI SL.HTHT
Correct Answer :-Vikram Sarabhai/ ﬁmwmﬁ
2)
Question Stimulus :-

Who was recently removed from the post of Chairman in the Tata Group? / T¢I 1 |, eTeT e & e
uc | fod gerar war U1

e Ratan Tata / ¥d- CICT

e J.R.D.Tata/Sl. 3R. Y. TeT

® Cyrus Mistry / |HIgRH ot

® Azim Premji/ 3ot ol
Correct Answer :-Cyrus Mistry / mﬁlﬁ
3)

Question Stimulus :-
Which of the following rivers does not originate in Madhya Pradesh? / ﬁﬂ:ﬁ A ¥ frg At &1 SeH HYY
TR H A8 82

® Waiganga / CIEMRI

e Shipra/ Rt



e Banas/ I

e Chambal / Tdd
Correct Answer :-Banas / 99T
4)
Question Stimulus :-

Which state capital in India was designed by Le Corbusier, the French architect? / g yrda Isg ot

ST B ha snfdeae off pigferg gRT fSeg far war g2
® Chandigarh / m
e Shimla / fRrEeT
e Bhubaneswar / aaﬁ%r\r
® Gandhinagar / el TR
Correct Answer :-Chandigarh / 98¢
5)

Question Stimulus :-

In which of these towns do the rivers Alakananda and Bhagirathi merge to form the river Ganga? / frad

¥ g TR ¥, srqqaTier g HRiRA Afeat, i 9 & Ao & ) faea =t 32
e Rudraprayag / gUANT
e Haridwar /8RGR
* Varanasi/ dIRTORT!
® Devprayag/ ém‘rqm
Correct Answer :-Devprayag / %atmm
6)

Question Stimulus :-

Arrange the civilian awards in the ascending order of importance / Hgcd & YR W, ANIRE '\"-IH'HT'_'ﬁ'
1 3P RIS H H AT Y

® Padmabhushan, Padmavibhushan, Padmashri, Bharat Ratna / YSTHYUT, Wﬁ‘lﬂ'UT, gsrsht, WRd
GG

.



® Bharat Ratna, Padmavibhushan, Padmabhushan, Padmashri / HIRd ¥, W%WT, R LA
LR

* Padmashri, Padmabhushan, Padmavibhushan, Bharat Ratna / TSTS, R LA Wﬁw, HRd
X

>

¢ Padmashri, Padmavibhushan, Padmabhushan, Bharat Ratna / wsﬁ, Wﬁ‘lﬂ'ﬂ, UTYUUT, HIRd
XA

Correct Answer :-Padmashri, Padmabhushan, Padmavibhushan, Bharat Ratna / W%ﬁ, Y14y,
QI AYWOT, YR I

7)
Question Stimulus :-

Which law covers the relationship between the pressure of a gas and its volume? / g frau & srta

19 & qaTq 3R 3P 71 & o9 Hadl ot fAafga fearmar g2
® Boyle’s Law / 199 &1 a9
® Leibnitz’s Law/mﬁz{vmﬁun
e Gauss’s Law / 719 &I a9
e Mendel’s Law / Hed &1 fad
Correct Answer :-Boyle’s Law / S19¢ &7 fH9H
8)
Question Stimulus :-

Which Indian cricketer has been conferred the Arjuna Award for the year 2016? /a9 2016 & "%I'E foa

YR fhdex Y 3o RBR Ue fhar mar g2
e Virat Kohli / faRTe ®ige
® Mahendra Singh Dhoni / ﬂ%ﬂ’s{ ﬁlg I
e Ravichandran Ashwin / ?ﬁ?lﬁ_"f &I‘f%:[
® Ajinkya Rahane / Sffoiy Wﬁ'
Correct Answer :-Ajinkya Rahane / 3ffoiay TgTot

9)

Question Stimulus :-



Which of the following is NOT a UNESCO world heritage site of Madhya Pradesh? / HYd USSR B B

¥ o1TE grwnt Bt fay eRigR) | i 61 37
® Khajuraho groups of monuments / m R g
e Rock Shelters of Bhimbetka / HIH T & UTHTUT YT
® Buddhist monuments of Sanchi / ﬂ'ﬁﬁ Ca| ah;z Ju
® Udyagiri caves of Vidisha / fafe=m &1 Ieafiiy 'ﬂ'qu'Ef
Correct Answer :-Udyagiri caves of Vidisha / fafe=n «1 Icafiik EILg1Y

10)
Question Stimulus :-

In which year was Project Tiger launched? / “Toide CITR” Bl wequr frg af o GoIT YT?
® 1995
* 1975
* 1973
°* 1970
Correct Answer :-1973
11)

Question Stimulus :-

In which district of Madhya Pradesh is ‘Bharat Oman Refineries Ltd’ set up in 2011 by Bharat Petroleum

Corporation Ltd and Oman Oil Company located? / H& U & fopd ford §f WRd ﬁ@ﬁ'ﬂ'ﬂ' PRI
YT AT RBTER gRT RITUT <HRa 3w Rorg- fafies’ fRua 82

e Damoh / E'I'Fh?'
e Sagar /AR
J Ashoknagar/m TR
® Shivpuri/ ﬁﬁ'ﬂ'\&
Correct Answer :-Sagar / 4R

12)



Question Stimulus :-

Near which monument will you find the Iron Pillar? / P9 VIR & U9 SMuw! Fﬁ?’ Y forerm?
e Charminar / ARFFAR
® Qutub Minar / W’lﬂ?ﬂ'
® Taj Mahal / dISTHg Al
® Hawa Mahal / gdTHg
Correct Answer :-Qutub Minar / $gaIHIR

13)

Question Stimulus :-

Where is Holkar Cricket Stadium situated? / @W frpe wfeaw Del =« %.?
® Indore/ 37:3?
o Gwalior / TaTeIAR
® Bhopal/ yiaret
o Rewa/Jal

Correct Answer :-Indore / $aI¥

14)

Question Stimulus :-

Alberuni was a historian during the period of / 3¢l o1 fpad e ot srafar o U sﬁgm 2
e Akbar/ 3PhdR
e Balban / 9ddd
e Mahmud of Ghazni / HgHg T4l
® Muhammad - bin- Tughlaq / JeHq fa=- LUNE
Correct Answer :-Mahmud of Ghazni / WW

15)

Question Stimulus :-



The two companions of Bhagat Singh who were hanged with him were / CEaE k| Hﬂ% Q, ﬁﬁ% HITd
i & ary widt & 715 A2

® Sukhdev and Yashpal / '{l,@%? T IRAYTST

e Sukhdev and Harikishan / '\3@%3' GE Eﬁ'ﬁﬂlﬁ
® Rajguru and Sukhdev / XTSI dUT ﬁ@aﬂ

® Rajguru and Yashpal / XTSI YT YAUTA

Correct Answer :-Rajguru and Sukhdev / ISR TYT @ed

16)
Question Stimulus :-

Who has been selected as the brand ambassador for "Digital India" from Madhya Pradesh? / fforea

A & forg weg wewr @ 9k s tows frd aafa fear mar g2
® Pranav Mistry / WOId ﬁm}ﬁ
e Abhishek Bachchan / 3If{S® CECK]
® Krati Tiwari/ Tﬁ IGEIE]
e Ankit Fadia / 3if%d wifear
Correct Answer :-Krati Tiwari / $fd faarit
17)

Question Stimulus :-

In which of the following cities is International Advanced Research Centre for Powder Metallurgy and
New Materials (ARCI) located? / $e¥ARA Tsdivs R Hex Bk UrSsy Aeas ¢s g Al
(TIRHI3MTS) ST YA 72

o Bangalore/a"‘T?ﬁT

e Kolkata / PIADTAT

* Hyderabad / 8eR09IG

e Ahmedabad / [gHGIHIG

Correct Answer :-Hyderabad / %WI?{

18)



Question Stimulus :-

What is the name of the first super computer that India built? / HIRd gIRT e aduyw JUR Y
T T FIT 2

® Param 8000/ UXH 8000

® Aryabhata / 3MmfHe

® Agni/ 3

® Bhaskara / HI¥h
Correct Answer :-Param 8000 / 9XH 8000
19)

Question Stimulus :-

Which of these companies tied up with the government of Madhya Pradesh for Janani Suraksha Yojana

subsidy project? /Eﬁﬁﬂ"ﬁ?ﬁﬁ'ﬂ‘ﬁ, nwmwﬁ,aﬁgv&nuﬁwmmw%
o gEg vEdt 82

e Airtel / QTR%?T

e Reliance / ¥aTdT
e Vodafone / AISTHIA
e BSNL/dgHgATa

Correct Answer :-Vodafone / AISTHIH

20)
Question Stimulus :-

The minimum age of a member of the Rajya Sabha is years. / XTS[ JHT ey & fere ferifya
TgAaH Mg qu 3

e 25
e 30
e 35

° 21



Correct Answer :-30

21)
Question Stimulus :-

What is the National Flower of India? / HIRd &I ?TE['gﬂ'q quu a1 87
e Lily/ferent
® Rose /[dld

o Lotus/ PHA

® Sunflower / '\‘Bﬂ'ﬂ'@ﬁ

Correct Answer :-Lotus / PHA

22)
Question Stimulus :-

Pilgrim town Amarkantak is in which of the following district? / W 2rER SR Pes Fufafaa d 9
fra fora & R 32

J Ashoknagar/al'ﬂﬁw
® Anuppur / AJUYI
¢ Khandwa / US&d]

® Shivpuri/ ﬁlﬂ'ﬁ'\ﬂ

Correct Answer :-Anuppur / JUYR

23)

Question Stimulus :-

Which among the following pairs is correct? / Frafafeaa 'ﬂ'":ﬁ A B '\‘Iﬁ %?
® Banyan tree - Madhya Pradesh / tua q& -HY e
® Khejri tree — Uttar Pradesh / @St q& — 3T LR
e Ashok tree — Uttaranchal / 3[RN& J& — SR

e Sal tree — Bihar / T¢l G&f - ﬁ?l'\"



Correct Answer :-Banyan tree - Madhya Pradesh AL q& - 4 u%.ir

24)

Question Stimulus :-
In which region of India, do you find Jarawa tribes? / HIRd & 59 &7 § SUD! SIRAT SIS odi

?

e Jharkhand / IRES

e Odisha / SIS

¢ Andaman & Nicobar / 3IGHH 9T A® AR

* Rann of Kutch / PISD PIIA
Correct Answer :-Andaman & Nicobar / SIGHIF 94T PR
25)

Question Stimulus :-

Light Energy is converted into Chemical Energy during the process of ./ UDIRT W’f, fooa ufepan

& R AT Sul | giafdad gidl 82
® Photosynthesis / YHTRRIRATUT

e Fat Metabolism / 9HT SUTUTH

® Transpiration / UdeH

® Respiration / I
Correct Answer :-Photosynthesis / UHTRRITATUT

Topic:- Computer Operator and Programming Assistant
1)
Question Stimulus :-

In HTML, line break is inserted by . / Taéienud #, agas® P GRI 9
o e 81

L] <p>

e <]b>

® <br>



® <break>
Correct Answer :-<br>
2)
Question Stimulus :-

The logical topology of a twisted pair Ethernet in a physical star topology is ./ frforea

WR clutaiel # fgies TR SURAC & dlfordpd clulaisn g -

* Bus topology / ¥H ciutarsit

* Tree topology / ¢l LGS

® Star topology / R Tiarare

® Mesh topology / AT Siaiaroit
Correct Answer :-Bus topology / &9 TlUi@isit
3)

Question Stimulus :-

The report generator is used in DBMS to ./ Eﬁﬁww A Ruld S ReY &1 IuaT & m
foar wimar 81

® format the data in a type that satisfies a particular human readership / SICT P 39 UPR § BiHe B o
fafkree gau SRy F T FHRar 8l

® create files / I W L]

® insert files / WIgd 37\‘1'(.; HH
® create groups / YW ﬁ?'QE' I

Correct Answer :-format the data in a type that satisfies a particular human readership / SICT Pl 3

THR W Bide &3 ol faflkre gau R w1 g a8

4)
Question Stimulus :-

Which of the following is the directory commonly used to store a website? / g a3 o= @ ﬁ%&lﬁ(m)
P GHTA: TP q9UISC B WR B4 & forg YT fomar s 82

e /public / /Uf&T®
e /home / /E-ﬁ'Fr



« /public_htm!l / /uUf®®_ugdvaud

« /home-/public / /8H-/ufx®
Correct Answer :-/public_html / /W_@?ﬂ'@l‘m
5)

Question Stimulus :-

TCP in networking, further breaks into . / Aeafen # i, 3mt e H fossfea
g e |

e Folders / L rend
® Packets / ﬁm
® Files / BPTgcH

e Packs / T

Correct Answer :-Packets / 3dcs

6)
Question Stimulus :-

What is uniquely used to identify a tuple in a relationship? / =1 O O forgeT ST oF =g w0 A
for<dt TeY o U (tuple) 1 F19 B & e fwar wirar 82

e Schema / TP

* Primary key / WIgH{ &t

e Attribute / E'gflﬁqz

® Domain / S
Correct Answer :-Primary key / UTSHSI &1
7)

Question Stimulus :-

KB is A A
e Key Block / 31 =l®

e Kernal Boot / A qc



* Kilo Bit / forail fae

e Kilo Byte / f&al arge
Correct Answer :-Kilo Byte / f&dl age
8)

Question Stimulus :-

The HTML element used to enter a scrolling area of text is ./ TRT & THITeRT Q'RTIT Ca) QET Cre g ﬁI'E[
U g1 91dT TadIuATd Teie § -

® marquee / At
scroll / ThId

text / IRT

® move / H{d

Correct Answer :-marquee / Aadf

9)

Question Stimulus :-

In VBA, are used to declare every variable before it is used. / VBA ﬁ, 'cg %qua?r &
SUERT ¥ Ugd 39 fSaaar o1 & fig 1 SUERT fopar Sran 31

® Option implicit / TR m

® Option explicit / TR TRIRIE
® Main implement / = swﬂﬁ?

® Main termination / a9 A=

Correct Answer :-Option explicit / 3T TeIfwifie

10)
Question Stimulus :-

'Is' command is used to list / 'TACH’ FHIS #l fore &1 & forg
v far Sirar 8

* Contents of folders / BITSR & ﬁm
® Files / BIgall




® Contents of files / BIgal Pt fawgayg
* Folders / WISl
Correct Answer :-Files / WIgal
11)

Question Stimulus :-

First page of Website is termed as / dGI3¢ & UYH Y§ & HgT AT §
®* Homepage / 'ﬁE’C{g(EﬁT[ UeT)
® Index / 3%3'\‘[
® JavaScript / SITdl 15524
®* Bookmark / W

Correct Answer :-Homepage / TEYF(8H UT)

12)
Question Stimulus :-

Light Pen is a ./ @18< U9 U gl
® Magnetic Device / TEPIT fSargd
* Pointing Device / Tda(uisfén )fgarsw
® Optical Device / 3lifP@d feasy
« Electro Magnetic Device / Sdae! gW@E®d f$agya

Correct Answer :-Pointing Device / Tdba(uisfen )fsasd

13)
Question Stimulus :-

SMPS isa: / SMPS § U :
® Power supply / UTaR WS
® (Control device / aﬂﬁﬁ %ﬂﬁ“\‘f
® Input device / T1YC %H[EW



® Memory device / AR %ET{'H
Correct Answer :-Power supply / UTiaR IS
14)

Question Stimulus :-

What do you mean by a soft copy? / Tive HIYt A 9 1 '\"-ITI?{-I% %:?
* Hard Documents / BTS SieIHeH
® Printed Formats / fﬁé@ﬂ'ﬁﬁ%ﬂ
® Document stored in storage media / Teive Hifgar # Wi far Iﬁﬂ*{ﬁf

e All Documents / 94t Siagdecy
Correct Answer :-Document stored in storage media / ¥ Re Hifear & wR farar Tar siegde

15)

Question Stimulus :-

e-Commerce is ./ g-ﬂv“l"q'\‘f% |

e Sale of product / IMIG PI faswt

® Banking business / sfhT e

® Business transaction / AP 30T

® Business done electronically / Eﬁﬂﬁﬁﬂ? ¥q ¥ far oM a1 sgaa

Correct Answer :-Business done electronically / SAaE-® ¥U & frar 94 aram sgaam™

16)
Question Stimulus :-

In full duplex mode the communication is A ST[@W IﬁG’ ﬁ JaR @T'IT %I
® Unidirectional / Wﬁ'ﬂﬁ'ﬂ
® Bidirectional / fefe=ita
® Tridirectional / fAfe=ia
® Multidirectional / Eﬁﬁ?ﬂ'{l




Correct Answer :-Bidirectional / fgfezia

17)
Question Stimulus :-

Comments in MS Excel can be added by ./ THTYH Eﬂ"\ﬂ?{ s | m

gRT TS f5d o 9@ g
Insert —* Comments [ SeHc —* HHcH

e Edit —* Comments / Ugg —pFHcH
e File —* Comments / FI5d —*FicH
e View —» (Comments / E-Err\—l"fﬂEIEH

Insert —* Comments /[ SeHc—» HHcH
Correct Answer :-

18)
Question Stimulus :-

A computer readable.code consisting of lines of varyipg widths, I-engths is called a /an
. / U HYER YS9 B HeNT-3( TSI, dals $1 Al 4 AaH ad1 8, 39
HgT A 2|

Bar code / R IS

® Memory card / AN P18

OCR / 3i.31.3MR

ASCII code / T.uH.3f}.3m8.3ME BIs

Correct Answer :-Bar code / R HIS

19)
Question Stimulus :-

What is document outline view in MS Office? / TH T 3Hiftbd | :‘ﬁ'ﬂ?{ﬁf SISCAIg g T 2
® Full screen / Pl T
® Print screen / fiic ¥

® Margin view / el g



® View of structure & heading at various level / IXTAT BT 311!,'3 g daa %f%"T
Correct Answer :-View of structure & heading at various level / I¥T $T & T4 faftra daa uv &
20)

Question Stimulus :-

In Tally, is a fund in fund flow preparation. / | ﬁ,—m T & femfor # Udh hUs %I
® Working capital / afTT S
* Liabilities / Tafaferds
® (Cash / bank balance / %sr/am CLE
® Balance book / CRE qP

Correct Answer :-Working capital / 9f7T Hfdea

21)
Question Stimulus :-

Which of the following provides a set of choices to an user? / fafaRa 4 o4 Udh gulk P fawedl &1 Td
Y= UG- BT 8?2

* Button / ¥

® Text / TRE

e List / foree

® Combo / HIEl
Correct Answer :-List / fore
22)

Question Stimulus :-

The equipment added to a computer system to enhance its functionality is called . [ PHRIR Rreeg &t

HaRHfad! # g 1 & e s9d @ oM arq sféude & PET STl g
® Digital Device / %ﬁlﬁ%ﬂﬁ'\q

e System Add-on / RRed Ts-3iH
e Disk Pack / f&® U



* Peripheral Device / T8%ra fearga
Correct Answer :-Peripheral Device / US{hRa feasa
23)

Question Stimulus :-

The characteristic of ROM that makes it useful is / A9 H1 farwar =it sﬁ IUARf g %
® the information of ROM can be edited easily. / A9 P AFDRT DI AT & Jurfea foear o
eI

® ROM chips are easily swapped between different brands of computers./ I g eIt & PR
& faftra st & & aqdl 1 9@d! g1

® ROM provides very large amounts of inexpensive data storage. / A9 I el T ot qggd CE|
AT Y& ol gl

® data in ROM is non-volatile, that is, it remains there even without electrical power. /

AT FT 32T X ARR §, Uaas g8 fagaa faa & 5= ot a1 v 21

Correct Answer :-data in ROM is non-volatile, that is, it remains there even without

electrical power. / W &1 ST I ARR 7, Adad g fagaa wfea & famm ot a1 w@ar 1

24)
Question Stimulus :-

The short cut key used to highlight the entire column in Excel is ./ Eﬁ'\qﬁ & 1]?' HIaH BI

gIsdise B4 & forg {5 wicepe ot &1 IuanT fHar SIrdr 82
® Ctrl + Space bar
e Ctrl+C
e Ctrl+A
e Ctrl+ Tab
Correct Answer :-Ctrl + Space bar

25)

Question Stimulus :-
The short cut key to print a file is: / fodt ws@ Pl fllce v & fere TeHe B @ -

e Ctrl+A



o Ctrl+P
o Ctrl+X
e Ctrl+V

Correct Answer :-Ctrl + P

26)
Question Stimulus :-

What is an error in software or hardware called? / TR a1 31@%‘51? i Zﬁ' B T Dol SIldl %?
® Error / ﬁﬁ' ()
® Beg/ T
® Bug/ 9
® Mistake / UG
Correct Answer :-Bug /
27)

Question Stimulus :-

The ability of a device to jump directly to the requested data is known as ./ %313'\‘[ F1 Raawds sreT @ A9
WY B BI faqwar _ wgand g1

e Random Access / Ext: Eﬂ'\qﬂ

® Sequential Access / CICE BRG] Eﬂ'\ﬁﬁ
® Quick Access / IGa:g Qﬂ'\ﬁﬁ

e All of the above / IWRed I

Correct Answer :-Random Access / 389 Tqad

28)
Question Stimulus :-

slot is a high speed point to point channel for attaching video card to computer's mother board. / eI

P AR IS ¥ fafzar +1€ ercw w1 & forw wiie TP I fa &7 Ulge g ulge 39 3

* AGP



°* VGA

e RAM

e ROM
Correct Answer :-AGP
29)

Question Stimulus :-

is NOT a type of network. /

e LAN
* WAN
e ZAN
e SAN
Correct Answer :-ZAN

30)

Question Stimulus :-

® Storing / T

e Editing / Tfsfén

® Processing / TR

® Sorting / it
Correct Answer :-Processing / UrRARAT
31)

Question Stimulus :-

In MS Excel, the intersection of a row and a column is called a

e sl wEiaEE

® Square / it

Acdd BT TP UPR 8] g

is the task of performing operations like arithmetic and logical operations. /

BT dYUT dh T St |fpard o34 &1 &1 2

_ / UHUH TR ¥, TP A 3R Th BiaH P



® Row / A
e Cell / 9@
® Worksheet / E 20 o

Correct Answer :-Cell / 99

32)

Question Stimulus :-

Which of the following is NOT hardware? / fEada s B'IZ‘;%TR' 7'|'bpf %’?
e Scanner / TR
* Interpreter / Se3Ucy
® Printer / filez
® Mouse / HISH

Correct Answer :-Interpreter / $e3uex

33)
Question Stimulus :-

Which of the following is an example of an operating system? / = | 9 siTmfeT Ry &1 JalerUl
DI AT 32

® Microsoft Windows / mgaﬁﬁuzﬁ@a
e Microsoft Access / HISHIATT T
® Microsoft Word / msaﬁw‘fwaé

® Microsoft Excel / HISHIITE Td
Correct Answer :-Microsoft Windows / ATg®H NG fdsier

34)
Question Stimulus :-

Who is referred to as the first computer programmer? / P q?ﬁ W TR & ¥ § 9F 1d % ?
® Bill gates / faw ﬂ'{\q
e Lady Ada Lovelace / Q8! TST ddad



® Von newmann / zﬁ-—r:{ﬁ-—r

® Charles Babbage / T dael
Correct Answer :-Lady Ada Lovelace / | QST dqay
35)

Question Stimulus :-

is a pictorial representation of solving a problem. / U GHIY &7 e Ao
(Rreifiae Rusiez) 21

® Picture / =R

e Object / 3lfsiae

® Algorithm / Wﬁﬂﬂ
® Flowchart / USIEI

Correct Answer :-Flowchart / T

36)
Question Stimulus :-

In VBA, a combo box is formed by combining / m ﬁ:, Udh B S E_FHﬁ' TOISIT B T ST %
® JLabel & text box / LEG Qa TR 9
® List box & text box / ﬁiﬁ'a‘m@ma\m
® Button & text box / dcH t{a TRT g
® Label & input box / A9d T4 §YC i
Correct Answer :-List box & text box / foRe ST Td ¢Re i

37)
Question Stimulus :-

function is used to create a data table. / B BT IYINT STeT ¢ad a4 | fHar sirdr %I
® Table
® Avg

® Add



® Count
Correct Answer :-Table
38)

Question Stimulus :-

In which of the following buttons is the Help menu available? / g ge1 # | frad TI'EH(%W) ﬁ""[\m gidr
82

e Windows / fasiet

e Restart / T: TRYH (FwTd)
e Turnoff / & 3w

e Start / %l

Correct Answer :-Start / &i¢

39)
Question Stimulus :-

VBA respond to event using ./ %%ﬁq Udh s%'e & ufd P SUANT HR IR edl %I
® Text procedure / eRe URfeR
® Object procedure / Sfsoge URfteR
® Event procedure / Sﬁf TRfteR
® (Code burner / Pl TR

Correct Answer :-Event procedure / §d¢ TIHIoR

40)
Question Stimulus :-

is altering of data so that it is not usable unless the alterations are undone. /

$TT BT 3TeeRAT g AIf a9 9P SHPT YA 1 fHaT ol b oF aF e S 7 gl
® Biometric / Wﬁﬁﬂ?

® Encryption / Y- QNE |
® Defragment / fspmic




® Compression / HEH
Correct Answer :-Encryption / TfrwE
41)

Question Stimulus :-

The software used to create slide based presentation is: / HIgS e
TGP0 R F31 & forg HIFEdTR HT SYANT fHar oI 3|

® Microsoft office word / H’I%ﬁﬁﬁﬁ' 3Afpyg a8
e Microsoft office Excel / aEs®te iifthy tad
e Microsoft office PowerPoint / dE®ibiw ifhd tla@Ee

® Microsoft office Access / ﬂ'l?gﬁ'\‘l‘fﬁ 3Try Eﬂ@ﬂ
Correct Answer :-Microsoft office PowerPoint / AgHIHtRe by ylav@rse

42)
Question Stimulus :-

The Function key for Help is ./ HEE(R) PR BPRASIE |
* F1
e F2
* F4
* F3
Correct Answer :-F1
43)
Question Stimulus :-

is the view of total database content. / o STeTad Hee ol q%I

® External view / Eﬁ'\‘?‘fﬁa{
® Physical view / m?&
® Conceptual view / ﬁ’\q'@\'ﬁ?[ g

® Qutline view / 3T3cellgd &



Correct Answer :-Conceptual view / BI~Ig3d o

44)

Question Stimulus :-

The relationship between frequency and period is a/an relation. / Wwigad! aur fifvas (anqﬁr
qUT 3(afy) & Aed Ay Ty gaT 8|
® equal / 3Hdd

® inverse / Eﬁ'\‘f
® linking / feifdr
® custodian / HEISTT

Correct Answer :-inverse / 3G9

45)
Question Stimulus :-

Firewall acts as a . /WRRHVWT %Wﬁﬂﬂﬁﬂﬂ?ﬂ%l
® barrier in network / Acad § Y
® defence in network security / Acas FRFaid & f3ha
® model of network security / Aead R & aisa
® virus in network / ﬁﬁﬁ?ﬁm

Correct Answer :-defence in network security / Aeas Ryt § fsta

46)

Question Stimulus :-

click opens the menu which contains relevant options. / W '\Q’ ﬁi[ 3y 3-1?“ %, ﬁmﬁ 3|
fApcu a8 |

o Left / AU
* Right / T3¢
 Centre / X
e Back / %



Correct Answer :-Right / ITgc

47)

Question Stimulus :-

On which principle does the hard disk work? / P A Rygid W 818 i35 ™ ol 82
® Laser Field / AR 833[
® Optical Field / 3TR®a &=
® Magnetic Field / T &=
® Electric Field / ﬁgﬂ?ﬁ'ﬂ a=

Correct Answer :-Magnetic Field / TEO1T &7

48)

Question Stimulus :-

does not harm the computer resource. / Frger Rard at g T8
UgaT g |
* Worm / ard
® Virus / dig3d
® Trojan horse / Q'T\_rlq Eﬁ
* Firewall / BTORAld
Correct Answer :-Firewall / BTIRaId
49)

Question Stimulus :-

How many bits form a nibble? / foaq fae Th IEE RG] %'?
°* 4

e 8

° 32



Correct Answer :-4

50)
Question Stimulus :-

graphs are used to show the percentage of a particular item. /

UThT &1 I fafR1e smged &1 ufa=ra wefkia v & forg fosar smar g1
e Bar / SR
* Line / @1gH
* Pie / U
* Column / HIaH
Correct Answer :-Pie / TS
51)

Question Stimulus :-

is used to modify the way the browser displays the object. /

IYUNT AR gRI 3fesiae b1 USRid fFd o ard a8iP & Uik ®1 F fore fFar s 21

e Tags / 39
® Arguments / 3‘"“@“
e Attributes / Tleqeq
e Parameters / TRt
Correct Answer :-Attributes / TE&EH

52)

Question Stimulus :-

Which keys can be pressed to quit without saving in DOS? / cack ko %9 ¥ DOS ¥ f3971 A9 f&d fde
far o W@ 32

e Ctrl+A
e Ctrl+B
o Ctrl+C

e Ctrl+D



Correct Answer :-Ctrl+C

53)

Question Stimulus :-

In open office math is a / 3= Sifp & Ay @?IT %I

* Document editor / SIFIHC TSI
® Presentation tool / TSI e
e Mathematical tool / AQAfeFa cd

e Equation editor / ST Tfeex
Correct Answer :-Equation editor / SPUI TfSex
54)

Question Stimulus :-

uniquely specifies the website address. /

Tgd &1 Ffdee wvar/ st g1
® Web source / 9 O
® Website / ail'\tlﬁ'd

® Web browser / 39 TSR

e Internet / e3¢

Correct Answer :-Website / d9918¢

55)

Question Stimulus :-

What is a string of eight 0’s and 1’s called? / 3T& 0°s TUT 1’s Gl %"T T Hedard! %?

e Bit / fac

* Kilobyte / fhaiarge
® Byte / dIgC

® Gigabyte / iTTETSE

3 ¥Y ¥ JgHISe



Correct Answer :-Byte / §Ts¢

56)

Question Stimulus :-

What programs interact with the Kernel? / A & TIY B F U 3id: fhar $3d %?
« Assembler / TIWER

® Hard drive / BTS $13d
® Protocol / mMelpid
® Shell / I
Correct Answer :-Shell / 3@

57)

Question Stimulus :-

e ROM

e RAM

EPROM

e LAN
Correct Answer :-RAM
58)

Question Stimulus :-

were used in 2nd generation of computer. /

& 2¥ oA H e
® Vaccum tubes / aiP{FI s
® Transistor and Diodes / @'ﬁl’x‘%‘x’ qUT SIS
* Integrated circuits / §¢ics ;rﬁmvr
® Memory chips / ARt fao

can be treated as the waiting room for the data of a computer’s processor. /

B HIYEI & UIAWR P STl & T afdT w0 & ¥ o uge forar o qaan 2|

BT IUANT FHGER



Correct Answer :-Transistor and Diodes / TifoReX aUT SHIS

59)
Question Stimulus :-

is a cyber crime. / TP ISR WY 2|
IP address / 3M8.9 ¢g®
IP Spoofing / 3ms.9t Tfthm
IP Service / 3.4t Afds|

IP Entry / 3ms.W =
Correct Answer :-IP Spoofing / 3ms.W gfthn

60)

Question Stimulus :-

Which among the following is a server side JavaScript object? / fra A A P IRk qrgs SAIRp e Sieoiae
8?

* file upload / WIgd UAIS

® function / BaRH

® file / BISd

e typeof / E‘I%'CIGI"I'TF
Correct Answer :-file / BIgd
61)

Question Stimulus :-

The type of e-commerce that deals with auction is ./ SATaRM & IIY Sd B aren g-m
HTUPR 3 -

* B2B

® B2C

e C2B

* C2C



Correct Answer :-C2C

62)
Question Stimulus :-

is NOT a Popup box in JavaScript. / SafEpe # TP UIq3y diay gl 2|

e Confirm / P

® Prompt / e
o Alert / E?I'(.;
® Error / TR

Correct Answer :-Error / TR

63)
Question Stimulus :-

In Excel, the cell address of 7" row & 7t column is / Qﬂ'\qﬁ ﬁ, 7_‘ﬁ. A Tqd 7a HIAH BT A Qéﬂ %
* F7
e G7
* H7
* E7
Correct Answer :-G7
64)

Question Stimulus :-

is used to add hardware, add/remove software, control user account and change access options. /

BT TGN ETSATR STaH, VIFEdWR ST/ FeM, ToR APTee BI FafAd #3 vd Ty faseul &t
deaq & fore fParwmar 8 1

® Task bar / TI¥h dIX
e Start menu / %I ﬁTi
® Control panel / m L)

® Icons / 3Tghd



Correct Answer :-Control panel / HeId 39d

65)
Question Stimulus :-

In half duplex communication, . /] 8T Eﬂ:@?\q TJOR ﬁ:,—

® Only one party can transmit data during the entire communication / Wf IR ® Had U uref 3ar
HaIRT HX TPl §

® Both the parities can transmit but not at the same time / S urdf weia s I d % R+ TP o o
W TGN

® Both parties can transmit at the same time / T B 9Hg W gl el FETRa H Iad %
® No party can transmit / aﬁ'é Wt urdf Tanfva T8l B gbal %

Correct Answer :-Both the parities can transmit but not at the same time / G\ UIef HaTRT H IPHd 8
TR T g 999 W 51

66)
Question Stimulus :-

The width of the file extension in MS Office 2007 has characters./ THUY 3iifbdA
2007 ® WBISd TRIRTA B 9155 PIFT B gl

e 4

Correct Answer -4

67)
Question Stimulus :-

is a common text editor. / U dHA™ TRT Q%E? % I
® MS Paint / TH.TH. te
® Notepad / Aets

® MS Word / TH.UY. 98



e Vi/dt
Correct Answer :-Notepad / AIcUs
68)

Question Stimulus :-

What is used by a user to access the Mainframe and the Supercomputer? / m(%?) GRT AN qUT qur
PR DI THY B & fore 3740 A fraeT ST fHar s 32

* Handheld / 3S3¢S
® Terminal / efifa
® Laptop / Auerg

® Node / /s

Correct Answer :-Terminal / efiqd

69)
Question Stimulus :-

command is used to duplicate the entire disk in DOS. / PHIS BT IUTRT

pos # gfl e @t ufafify a9 & forg fpar wmar 21
* Format / Bi¥c
* Fat / B¢
* Diskcopy / fsTmeidl
* Virtualcopy / ag3ra®idt

Correct Answer :-Diskcopy / f&&p®1dt

70)
Question Stimulus :-

is NOT an e-Payment. / TP §-YTdH a1 3
e e-Cheque / 3-3F
* Debit card / 3fe &1
* Credit card / ®fSc &1



e Cash on delivery / &1 39 f3ferast
Correct Answer :-Cash on delivery / &3 3 fSferast
71)

Question Stimulus :-

is a collection of system programs that controls the operation of computer. /

T TP HIE & O $ULR F HA B PR $aT B
® MS Office / TH.TH. 3T
e DOS / 3 (&% mRfewT Rew)
® Application Program / TWI®HRE WRITH

® Interface / m&m
Correct Answer :-pos / 3 (f3%F mRfdT ReH)

72)

Question Stimulus :-

HTML document is saved in ./ QT'-lTﬁ'ETI'Q?[ awﬁﬁr )

R vt

H A9 fear

ST B
* ASCII Text / ASCII ¢Re
® Machine language codes / =i v Fie
® Special binary format / WY fFemur wide
* BCD codes / BCD 31

Correct Answer :-ASCII Text / ASCII ¢Re

73)

Question Stimulus :-

Application program is used for ./ E&IQWFI' UNTTH T TaRT
® Running a program / T &Y 3
® Developing a program / TTH®! Saay
® Debugging / feafi

F & forg foran s 31



® Accomplishing a task / CR®P Ed| A
Correct Answer :-Accomplishing a task / P &I TR
74)

Question Stimulus :-

Which option is used to print on both sides of the paper? / P9 91 fadeq Brre & a""ﬁ' R gﬁa PP m
SUYRT foraT STt g2

® Double Capture / Sdd PR
® Double sided printing / Sdd grgss ffd
® Double printing / S9a fOfdT
® Double page printing / Sdd ue fufdr
Correct Answer :-Double sided printing / S0 HI5aS e

75)
Question Stimulus :-

is the heart of the computer. / YR HT 5T 8

e ALU

e RAM

e CPU

e ROM

Correct Answer :-CPU



